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O"e g: p‘ts PART - | / 3197 - |
General Knowledge and Current Affairs, School Education, Examination Board and its Administration etc./

mwamammﬁzﬁﬂmﬁ,wﬁmﬂ, TR1eTT 9IS qel SHBT YA Scdife

1.  As per CBSE Examination Bye-Law 1995 updated upto January 2013 who shall be the legal person
in whose name the Board may sue and be sued ?

(1) The Secretary of Board (2) The Governing Body of Board

(3) The Controlling Authority (4) The Chairperson of Board

o THE. TheT SR-r 1995 SHadt 2013 Tk TR & TR 98 HiA fafuss =afa g fSmes am
TR SIS GheHT T Y TR HAT Fehell © 2

(1) € & | (2) @I 1 wEAEE

(3) s gifueRrd (4) WIS & FAAY

2. What was the theme of the Menstrual Hygiene Day, 28 May 2024 ?
(1) ‘Together for a # Period Friendly World’
(2) ‘Fundamental Right to Menstrual Health and Hygiene’
(38) ‘Safe Menstrual Health and Hygiene for All
(4) ‘Dignity Kits for All’
i sl foaw, 28 WS, 2024, 1 & fawa (oftw) &= o1 ?
(1) ‘T ER I # diRTe hed ace’

(2) ‘ThemHId TR T HEZST T TS BN
(3) ‘H HESTA TTY TUS FES(T W A’
(4) ‘feriret forew wR &’
3.  Which of the following philosophers said “slave is the one who does not express (manifest) his
ideas on his activity. He expresses ideas of any other persons”.
(1) Socrates (2) Aristotle (3) Karl Marx (4) Plato
Tttt o & fere Sreifen < et foh - < o8 € ST 319 Shrefsherd | 7o Tor=IRi =l Weohe =&l il | oe
feret a1 =afem o foaml &1 wehe e 81"
(1) gHud (2) g (3) el e (4)
4.  When did the Article 21-A of Indian Constitution and the RTE Act come into effect ?
(1) 1 April 2010 (2) 1 June 2009
(3) 1 December 2010 (4) 1 January 2009
AR |9 & 3Twsg 21-A 3R ARAE. Afuf=m we § g9@ | o7 ?
(1) 1 W, 2010 (2) 13, 2009
(3) 1 feg=r, 2010 (4) 1 S, 2009
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5. The statements are given below regarding the power of Controlling Authority of CBSE
(Resolution 1962) to ensure the compliance with its direction during the suspension of board.
Choose the correct statement/statements :

Statement I :  Controlling Authority of Board of School Education to oversee the Board’s activities.

Statement II :  Controlling Authority of Board of School Education can appoint an Administrator
to exercise the powers of Board.

(1) Statement I is correct but Statement II is incorrect
(2) Statement II is correct but Statement I is incorrect
(3) Both the statements are incorrect

(4) Both the statements are correct

WA TEE. (FE-1962) H 0 wifteet o6t wfsal & s § i€ & faciem & A fewnfen =t
SeTaeel g S % fae = & wed fou ™ ¥ 1 9@ wem/ sl w1 gAE Fif

weA1: e wifbe, wha fian s, i€ ot wfafafel 1 caa S

w1 : T wifyenl, et foren &S, o st wifsddl 1 &R i & fore gemees ot fFgfea st
TRl T

(1) YT I T & TG 11 7o |

) HATIFE € Y17 ¢ |

(3) T & A T § |

4) S & wA TR L

Follow Telegram @examsdrx for more content

6. Who was awarded the Rashtriya Khel Protsahan Puruskar 2023 for ‘Encouragement to sports
through Corporate Social Responsibility” ?

(1) New Delhi Municipal Council (2) Odisha Mining Corporate Limited

(3) BML Munjal University (4) KPMG

‘Fe T S o TIeTH 9 W ol Yicdred’ & foe Fefatad 8§ 9 fed U ©a g
R, 2023, fean w72

(1) 8 fooel TrRurfer 9Rug (@ € ww ) (2)  ieEn AT wie fafiee
(3) it " A gt e 4) &S
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7.  Consider the following statements regarding budget reform in India :
(A) The date of budget has been advanced by a month from the Financial Year 2021

(B) The Plan and Non-plan classification of the government expenditure has been reintroduced
from the financial year 2022

(C) The Railway budget has been merged with the Union budget from the Financial Year 2018
Choose the correct answer from the codes given below.

(1) Only B and C are correct (2) Only A and C are correct

(3)  Only Cis correct (4) Only A is correct

ARd | o5e GUR o ar § Fefafed el ® foem s

(A) foxitar = 2021 | a1 T&IA w1 T9F T AIE Jo o a1 T 2 |

(B) fordta a1 2022 ¥ TR = M A1 3R TR-ASH1 2 1 Sfieor e feram T 1

(C) faxita o 2018 & X oI5 &l H=d dse | THIfed HT feam 7o T

et few T 2 ¥ 9w SR g
(1) e B3R C 9&l & (2) Fad A 3R C T ¥
(3) HIACHL® (4) Fad AT R

8.  Asper CBSE Examination Bye-Laws 1995 updated upto January 2013 who is authorised to condone
the shortage upto 15% of attendance to appear in Board Examination ?

(1) Secretary Board (2) Chairman of the Board
(3) Controller of Examination (4) Principal of School

3 TH.E. TET - 1995 SHekt 2013 Tk SR H oS el § d3q & forw 15% aeh sufeurfa
F § g2 1 & fau ®F wifuea § 2

(1) gfEag e (2) dIE F FAY
() e s (4) Toeme™ gyuHRET
9.  Which groups are specifically mentioned in Article 15(5) of Indian Constitution for special provisions
in educational institutions ?
(1) Senior Citizens

)
(2) Scheduled Castes and Scheduled Tribes
(3) Government employees

(4) Women and Children

Toreq Feml # TR wrareml o fau 9 |fasm & 3= 15(5) § %iF 9 99l &l fau €9 9 Seifad
o T %2

(1) dise iR

(2)  wrggfe SfE iR syl SEsE
(3) TR HHART

(4) Tfeand iR o=

[OEL- O]
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10.

11.

12.

13.

Which of the following Head of Department in CBSE is responsible for curriculum development
and teacher training ?

(1) Director (Vocational Education and Training)

(2) Director (Academic, Research, Training and Innovation)

(3) Director (Edusat)

(4) Director (Professional Examination)

T W, @A TEE & HH A T areshy At iR stees wiveror o faw SwRerE €2
(1) ficees (Haefae e wa uiiegon)

2) Trewes (dferen, STIEEE, UfTerr T@ FameR)

(@) e (TgHe)

(4) TIcees (URIER w’iam)

As per the copy of Resolution No-209 of MoE-1962, one of the function of Central Board of Secondary
Education concerning student’s well-being is :

(1) Supervising student’s residence, health and discipline

(2) Provide financial assistance to students’” family

(3) Organise medical camps for their health checkups

(4) Providing legal assistance to students

Toren HTeTa Y= T GE@AT 209-1962, F TR hid AEATHE &7 IS 1 DI oh TH0] w@eed & gfd
T FE T

(1) BE % EE, Weed 3R ST i e HEl

(2) BEI % IRAR I foiia TR Sqeed HLAT

(3) Bl % WA Wi % foru w@mees fafadl &1 SEiee S

(4) SEI I HMEA TEEA ITAH BT

Among the following countries which one produced the highest percentage of biogases in 2022 as
per the International Energy Agency report, titled ‘Renewables 2023" ?

(1) China (2) India

(3)  United States of America (4) Canada

‘TelteRTuli 2023, T § YRINIG ST Soll Toid! fUTe o STIER 99 2022 § f=ifera # & fohg @
T gag Afyen Ffaer S 1 3eA gol ?

1) == 2) WRd

(3) €. R (4) wTE

As per National Education Policy (2020), which of the following institutional structure shall set up
facilitative norms for issues, such as credit transfer, equivalences etc, through the National Higher
Education Qualification Framework (NHEQF) ?

(1) National Higher Education Regulatory Council

(2) Higher Education Commission of India

(3) General Education Council

(4) National Accreditation Council

T fren Hifq (2020) % AR Frafafed § § w1 o deenfie e T S| e sEa s
(TA TF S R TH) & A9 § shiee Iaiur, Trgeddl sfe siet gfaensti & fag gfawm fauifa st 2
(1) U = e fafremmes aftug

(2) YR =R forem ST
(3) g fen afg
(4) U garFEd qig

IOk O]
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14.

15.

16.

Which of the following statements is correct about the Public Service Commission in India ?

(1) The Chairman of a Joint State Public Service Commission is appointed by the Governor of
the larger state in the Joint Commission

(2) The Chairman of a State Public Service Commission is appointed by the President of India.

(3) The Chairman of the Union Public Service Commission is removed from office by order of
the President upon on inquiry held by the Supreme Court recommending such removal.

(4) The Chairman of the Union Public Service Commission is appointed by the Chief Justice of
India.

RA H s e TN o 9R H frefafed # & sF-1 e ud 82
(1) GIF T5F e JalT ST o 278987 i Fgfod Hga 3 § oS U9 o IIdTel §RI i STl € |
(2) ST TR ¥ SN % STeAet S Ffo wRa % egufd gRI St S ¥

(3) T Tk Yol TR T 3TeAeT I IRA & IoAqH I §RI HE T8 Sird IR Fawfeer | wsgafa &
¥ BRI U8 ¥ BT ST Fehell |

e IR T STRINT % STeAe] whi T WRd % G <Ay gRI Rl S ¥

Follow Telegram @examsdrx for more content

According to the World Health Organization’s, 2023 report, which of the following regions has
the highest density for Pharmacists in the world between 2014 and 2021 ?

(1) Western Pacific Region (2) South-East Asia Region

(3) Eastern Mediterranean Region (4) Regions of the Americas

fova waRen W e & 2023 % FUR & SI9R ad 2014 ¥R 2021 & 9 frfafed & 9 fhg e o
I S TG T @ ¢ 2

(1) ot g &= (e ufafeen) () TfU-vE TREE &

(3) T yAerETE &= 4) SHfE &=

‘DIKSHA” stands for :

(1) Digital Initiative for Knowledge Sharing Agency

(2) Digital Intervention for Knowledge Sharing Hands-on Activity
(3) Digitally Interactive Knowledge System for Holistic Activities
(4) Digital Infrastructure for Knowledge Sharing

DIKSHA (<tetr) =1 1¢f §

(1) feshea shfmafea wRk e Safan g

2) fesiea s ®R Afers T dem-3if7 TRifaet
(3) fesitedt seurg Afas faeen wR gafes TFifafes
(4) fTesiiea SwrgeFer &R Aicrst TR

[OEL- O]
RAS-24 /ACT é@% 6 F2


Follow Telegram @examsdrx for more content 


17.

18.

19.

20.

Which of the following acid is present in Tamarind ?

(1) Formic Acid (2) Acetic Acid

(3) Oxalic Acid (4) Tartaric Acid

el o fafafafed § § s @ o faemm g 82

(1) i e () it ufae

(3) ArRifersh e (4) <R wfEs

Which of the following is a new offence introduced in the Bharatiya Nyaya Sanhita 2023, which
was not a part of the Indian Penal Code, 1860 ?

(1) Criminal conspiracy

(2) Acts endangering sovereignty, unity and integrity of India

(38) Assaulting President, Governor, etc.

(4) Unlawful compulsory labour

TR = Hiedr, 2023, #§ fFAfafeg § 9 g U ooy 1 gfmfad fean @ € S IR < Hie,
1860 T M (3{1) & o1 ?

(1) Uy oo

(2) R HI FIYAT, Thdl IR WS & T Hehe IoT L Gaeht Fed

(3) Uegufd, Tt enife =afeal T gHeAT hE

4) fafu-foeg saferd g

What is the Wavelength range of X-rays ?

(1) 400 nm to 1 nm (2) 1nmto1073nm

(3) <1073 nm (4) 700 nm to 400 nm

TFA-YS (&~ o1 aiaed feham 2 & 2

(1) 400 nm ¥ 1 nm (2) 1nm¥10~3nm

(3) <10~3nm (4) 700 nm ¥ 400 nm

As per National Curriculum Framework for School Education (NCFSE 2023), which combination

of assessment methods is recommended for preparatory stage ?
(1)
(2) Short, formal written evaluations only

(3) A combination of observation, correcting worksheets, and short, formal written evaluations
(4) Observations only

T =l Al foemerht s (W Th.TEsE. 2023) & AIER IRIYS steweq o fohd sTehe
Tgfaal % I H Gegfd ot T T2

(1) haa =ehefle sl Tl HE

2) had oy, siv=Ties fafaa qediad

(3)  TICHRA, THIME T TE HAI, IR o, fq=nier fafaa qeiw vt &1 wftufera we

(4) had AR

Correcting worksheets only

IOk O]
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COﬂteﬂt PART - Il / #4191 - I
Reasoning & Mathematical Ability / @b Td JTRN e
21. With uniform speed, a vehicle covers a distance in 10 hours. Had the speed been increased by

22.

23.

24.

25.

6 km/hr the same distance could have been covered in 5 hours. What is the distance covered ?
(1) 30 km (2) 50 km (3) 60 km (4) 40 km

T St TG | e WA W U a1ed Tiaed qek 10 He H ugadn ¥ 1 af fd w6 fon /s aem | a6 @
5% § 0 L &l I ¢, FA Tl T8 g4 sl |

(1) 30 frsl (2) 50 fmHT (3) 60 fwHl (4) 40 fmHT

A sum was put at simple interest at a certain rate for 4 years. Had it been put at 1% higher rate, it
would have fetched ¥ 960 more. The sum is :

Teh f¥1 4 99 & forw, W FHiY=rd <aTSt 0 O SR S37s) W AT Sl © | 3R $§ U1 h! Teh giaera s1feeh
TS S G IR ST 1 39§ T 960 STk 9T B | |l Ui ©

(1) % 14,000 2) 32,000 (3) ¥ 28,000 (4) 19,200

Select the letter cluster that can replace the question mark (?) in the following series :

IY &R YT 1 = HifaC s Frefafed Seen § ged fa= (2) 1 @\ o 961
PMBZ, KRWE, FWR], ABMO, ? , QLCY
(1) VGHT (2) WGHT (3) VHGT (4) WHGT

Diameter of a cycle wheel is 28 cm. A cyclist takes 30 minutes to reach a destination at a speed of
22 km/hr. The number of revolutions will be made by the wheel during the journey are :

Teh HTEfhel o UfeT o M 28 W.HL. T| T Wiefhal WaR 22 T #t. /=i &t 1fa ¥ wiva 7o dger
30 fHe a1 & 1 39 Q0 9 § 9feq & §RI IRYH0 A i HE&A SR

(1) 125000 (2) 140000 (3) 110000 (4) 175000

In an examination, Ravi got more marks than Mohan but not as many as Priyanka. Priyanka got
more marks than Gagan and Kamla. Gagan got less marks than Mohan but his marks are not the
lowest in the group. Who is second in the ascending order of marks ?

(1) Ravi (2) Priyanka (3) Kamla (4) Gagan

T qhEn H M 7 AT § sifue e e oifed A e o TR e 71 fe 3 e ek ween 9
31fireh 3eh T | T 3 Tigd 9 %W 3k T Aifsh 39 37k g | T 7 el € | 37hi & TRl ohH |
T TR I GO T W T ?

(1) (2) TaEeht (3) HHA (4) TH

[OEL- O]
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26. Which of the following is equal to 1 ?

frefafed § 9 9 911 % SR § 2
(0.11)? (0.011)2
(0.01)>x 0.1 @ 112 (0.01)2
(1.1)? (0.01)?
) 01Zxo11 @ 012x11

27. Study the diagram carefully and answer the question.

Indians
Doctors

A
(N

Players

What does letter ‘e’ represent from the following ?

(1) Indians who are players. (2) Doctors who are Indians.

(38) Indians who are doctors and players. (4) Doctors who are players.

T U 3T 1 SAFYES eI TS SR e T S AT

AT y
A Sl
faart
frfafed & 9 ‘e ford =1 il 82
(1) RdE S o faere €1 2) S fw urdE €
(3) YRGS el IR faare €1 (4) TR S fr faare €1

IOk O]
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28.

29.

Three statements have been given followed by three conclusions I, II and III. Assuming the
statements to be true, even if they seem to be at variance from commonly known facts, decide
which of the given conclusions logically follow(s) from the given statements.

Statements : Some doors are windows.
All windows are birds.
All birds are animals.
Conclusions : 1. All windows are animals.
II. Some animals are windows, birds and doors.

III. Some doors are birds.

(1) Both conclusions I and II follow.
(2)  All conclusions I, II and III follow.
(3)  Either conclusion II or III follows.

(4) Only conclusion II follows.

T el o avErd = e 1, 11 23R I e 7 € | Rl ol It | gU, 91 o 9 9 9t | fu=
Tdid e 2, fofa Sifse o e a1/@ freeed fou @ el @ feheran €/ feherd €2

HAT: TS @ FaSfRA §
gt faeferar usft €1
it vaft oy €
frerd: 1. wf fosfwar oy €
1. F9 7Y fasfwar gaft oik stams €1
1. %o S 9aft 1
(1) w1 2R 11 S fehera €1
(2) =t R 1, 11 3R 111 fskerd 1
(3) @ < feems 11 3 11 feheran © |

e Freerd 11 ferer 7
FoIIow Telegram @examsdrx for more content

The average weekly salary of a total of 90 workers in a factory is I 400. The average weekly salary
of officers is ¥ 600 and average weekly salary of the other workers is I 350. Find the number of
other workers.

Teh HREH H FeI 90 HTHAT 1 I Grareer 9a= T 400 2 | TferhifE o1 siiga Qreifess o T 600 ¥ |

3T HIfHeRI 1 T TR o= T 350 § | 3= KIfHeh] ohi H&AT IdT3T |

1 72 2) 84 (3) 68 4) 74

[OEL- O]
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30.

31.

32.

33.

Given below is a question followed by two statements numbered I and II, each containing some
information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appropriate answer.

It is 9.00 pm, when can Harish get next bus for Ajmer from Jaipur ?

Statements :

I.  Buses for Ajmer leave after every 30 minutes, till 11 pm.

II.  Fifteen minutes ago, one bus has left for Ajmer.

(1)  Either statement I alone or statement II alone is sufficient to answer the question.

(2) Both statements I and II together are necessary to answer the question.

(3) Statement I alone is sufficient to answer the question, while statement II alone is not sufficient
(4) Statement II alone is sufficient to answer the question, while statement I alone is not sufficient.

= T Y & A8 T FHUA 1 3R 11 T 9 THHRI Ffed ST 7T § | 9! 98 7 T © o wiA-41/
FHF-H FHY I T SR <4 & foIw 73t 8/ | SHi oAl i ufgu iR 3faa S| 0 i |

31oft T H 9.00 I ¥, T TTeH 99 AR ¥ ISR & faQ el weham 2

h A

I. 3R & foe o9 et 30 fae § 11 99 d Tt ©1

I 15 e 9, Ush 99 TSR o ot @Ml g8 § |

(1) 1 1 e I 37l A1 HF 1T 3Tohel T ol SR <7 7 9 ¥ |

(2) < A 13RI T a1y fHete 9 &l IR <A & fag e7ewas ¥ |

)

)

N

(3) YA I 3Thel & U9 1 ST < B TATE &, Sreifeh e 11 3Tohel T el |
(4) YA I 3Thcl € U I SW o &G T B, STalfeh e [ 3Thel T T8l |

Raghav walks 10 m towards South from his house, turns left and walks 30 m, again turns left and
walks 40 m, then turns right and walks 10 m to reach the school. How far and in which direction
is the school from his home ?

(1) 60 m, North (2) 50 m, North

(3) 50 m, North-East (4) 60 m, North-East

e 79 SR Sfeqor st SR 10 #. wrern €, ST gedt @ 3R 30 H. S €, GA: S gl § SR 40 . st
%, T foremera og=m & o < gt € iR 10 . e €1 39 R 9 fammer fadt @ oiR fhm foun o
g7

(1) 60 ., IW (2) 50 Hl., IW

(3) 50, IW-qd (4) 60, IW-qd

A shopkeeper mixes two varities of coffee one costing ¥ 320 per kg and the other costing < 400 per
kg in the ratio 5 : 4. He sells the blended variety at I 384 per kg. His profit percentage is :

Teh TSR T 320 Wi feredl qem T 400 W fereit w6t Tt o1 5 : 4 H foem a1 & 31X fagor =6t 71 et =l
% 384 Wifdl fencfl il <X @ 9191 <1 & | SHeRT A1 Wiererd e HIfT :

(1) 12% 2) 9% 3) 16% 4) 8%

A pendulum strikes 5 times in 3 seconds and another pendulum strikes 7 times in 5 seconds. If
both pendulum start at the same time, how many times they strike together in 1 minute ?

(1) 5 times (2) 6 times (3) 4 times (4) 7 times

T Alicth 3 Hahe B 5 IR THTAT § A1 SO et 5 ohee | 7 IR a1 © 1 IS ST alleish T |el
Tfaeiel & a1 9 Teh e § fohdei IR Teh THH 9R Thaa ?

(1) 59X (2) 69K (3) 49X (4) 79X

IOk O]
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34.

35.

36.

In a certain code language ‘"MONDAY’ is coded as ‘JTKIXD” and ‘FRIDAY’ is coded as ‘CWFIXD’
then which of the following word will be coded as ‘QMRWPIXD’ in the same language ?

et e 9T H, 'MONDAY’ &1 & ‘JTKIXD' 3R ‘FRIDAY’ &1 % ‘CWFIXD' § T 6t e o 8
frefafed 9 9 fofd =8 &1 2 *QMRWPIXD' B ?
(1) RAINYDAY (2) SUNNYDAY (3) THURSDAY (4) SATURDAY

Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.

Assertion (A) : We prefer to wear black clothes in winter.

Reason (R) : Black clothes are good reflectors of heat.

(1) (A) is false, but (R) is true.

(2) (A) is true, but (R) is false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
T FHYA UK (A) 3R HIT (R) F €9 H HifRd fhu 7T § | A1 el 1 eAmgde ufen 3§l &t
Tl § el 3w g

AR (A) :  TH T H FHt FHUS T =R 2 |

ST (R) : HIS FIS ST o TETH ¢ |

(1) (A) 39H g, Afhd (R) §F T

(2) (A) 9 T, AfhA (R) 319 T |
(3) (A) 3R (R) S T AT (R), (A) I T&l AR T
(4) (A) 3R (R) I TA T, AR (R), (A) F T =& TG T

‘A + B means ‘A is the mother of B/,

‘A —B means ‘A is the husband of B’,

‘A X B’ means ‘A is the sister of B’,

‘A + B means ‘A is the son of B'.

If FX]J+T—R+L, then which of the following is definitely true ?
(1) ] is the brother of R. (2) L is the brother of J.
(3)  Fis the sister of L. (4) Fis the mother of T.

‘A+B &1 31 T, A, BH UA T,

‘A-—B H AL T, A, B U T,

‘AXB W1 319 §, A, Bl 9 T,

‘A+B F AT, A, BHR ST

AT FxJ+T—R+L & Frfafaa wei & @ &9 @1 sova & 93 82
(1) ], R IE 2) L] 9E T

(3) F, L&t afed 2 (4) F, T AMITI

[OEL- O]
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37.

38.

39.

40.

In this question, three statements are followed by two conclusions, numbered I and II. Find out
which conclusion(s) is/are definitely true, based on the given statements.

Statements : N>E E=W, W=X.

Conclusions : 1. X>N
II. E=X
(1) Conclusion I and conclusion II both are not true.
(2) Both conclusions I and II are true.
(3) Only conclusion I is true

(4) Only conclusion II is true.
T Y9 | A9 el o o 91 frswd 1 eTR 11 few T € 1 U U el 9 SNYR W gt e iR e |1/9
frrp Ffye &9 @ wed 8/% 2

HU : N>E E=W, W=X.
ferd: 1. X>N
II. E=X

1) e 1 o freendl 11 SHT s8c €1

2) fremd 1 8iR 11 <M T €

3) oo FreRd 19 )

4) Hhae e 119 T

Follow Telegram @examsdrx for more content

A couple has a son and a daughter. The age of the father is four times that of the son and the
daughter’s age is one-third of that of her mother. The wife is 4 years younger to her husband and
the sister is 2 years older than her brother. The age of the mother/wife is :

(1) 28 years (2) 42 years (3) 38 years (4) 36 years

Teh TH % U T G SR T G ¥ | U Y oy UF R A AR T § qen T 6 ST A
TR €1 ufq-ueh Y omg B 4 9 i =R B 1 Ul S ¥ 1 G, g 9 2 9 ot ¥ | e/ et ey
ELIEL

(1) 2894 2) 4298 (3) 38 ad (4) 36 TH

o~ o~ o~ o~

Visitors to a park were charged ¥ 13 each on the first day, ¥ 8 on the second, X 4 on the third day
and the total attendance of visitors on three days were in the ratio 2 : 3 : 5 respectively. Find the
average charge per person for the whole show.

Teh Teh H SANThI © el T ¥ 13 fa =afo, S8t fad 8 ufa =afer qen % 4 i safea T foa T s
¥ | SATTeR! T 1 T st Sufeafa 1 oo shuen: 2 : 3 : 5 @11 Hid Al i 9d Yoo i UM Hifad |
1 T7 2) %9 (3) T12 4) %15

A candidate has to obtain minimum 35% of the total marks to qualify in the examination. He got
23% of the total marks and failed by 48 marks. The maximum marks of the examination are :

T 31eefl Rl qden 3ol M % fore =aw 35 faer ofe =ifew | 38 23 Wfavrd i T gu iR 9% 48
31l | STIOT T&T | WieN ok 3Afeeha™ 3k F1d i |
(1) 400 ) 500 3) 600 4) 300

IOk O]
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PART - Il / 4191 - 1lI
General English - Comprehension and Communication Skills,
General Hindi - Comprehension and Communication Skills /
JTATR 36N - AeS Fe AR BI2Ted, AT Tgeat - AT qN FaAR HIeA

Trefeiaa TensT st Ugeht 36 X 3MUTRA U9l (41 - 43) & el faehed I :

" giwepfas o™ &1 Aaed § - Sia o1 foe iR Sftem w1 faem, gfe oIk uspfa =t fasyfa = faem |

Hiehiae fasm &1 Iaes A & e &1 fasm off 8 | whfa &1 e gispfaes fosm =& T 1 o1t foreshrem
78 ¥ o &1 gfte o1 31 oo o @ € T ogudt’ § fan o’ §, 5o ®, forat Hufd €, S 9okl e g2 W R
I & 21 Wl TS Tl o 91G I8 Y & 7 W&l |

41.

42,

43.

44.

45.

46.

eI i TedT ol HROT & -
(1)  Sfae =1 18T fasw (2) UThiae GEIEHI T Sred
(3) ¥F-Hufd sl e (4) o7 Hufd 1 = S

qiehfaen foenm # Sfhe =& © -

(1) Ste (2) g (3) S (4) |
TS & STTAR afeid © :

(1) =Afwaa &1 fow™ (2)  Wehfd I IS0l

(3) Hd I fashE (4) Sia 1 forer™

“araem frefafad § 9 forg w1 e €2

(1) 7%l (2) Tehl (3) drgrS (4) RIGH
foreim wreal <1 Wt el T ©

(1) ofaa - @&y (2) ¥ - =

(3) HaU - faEr (4) TEAR - Tk

frefafeaa § @ dga & e el & fasedl § 98 ©
(1) R, Sary, feArg, 99

(2) gureRy, wiged, 35, femehy, wifd, @R

(3) I3, eRTYfd, ek, TSHIG, e, il

(4) @R, wf, gy, HEre, THY, F56™

[OEL- O]
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47.

48.

49.

50.

“oiefT =1 SIS BT HRTAY/AIhITeR hl T2l ST ©

1) ST agd 91 F & Tohd §

(

(2) M ¥ f@ren s

(3) = % YA Y AT IS ht TS SIE T 7

(4) N = g AT W &

frefafed # oHem dfy aem s ©

(1) FemEA (2) Tty (3) ania (4) T
Trefafad o srerdivme qam arel v ©

(1) ST (2) <O (3) <A (4) TERY
frafafaa o qom o =i ©

(1) foa 2) W@ @) (4) T

Read the passage given below and answer the questions that follow (51-54) :

This enormous increase of population is due to better food, better hygiene and above all, the advances

made in medicine. Rapid developments in modern medicine have conquered many diseases and
consequently the death rate has decreased. Until the beginning of the 19" century most people died
before the age of 50. Today in developed countries the average lifespan has risen to more than 70 years.
The population goes on increasing at an alarming rate inspite of the practice of birth control in many
parts of the world. Thomas Malthus, a British mathematician and economist, went to the extent of
declaring that, if unchecked, human population would grow in geometric progression (i.e. 1, 2, 4, 8 and
so on) while food production could grow in arithmetic progression (i.e. 1, 2, 3, 4 and so on). He was of
course, very pessimistic.

51.

52.

53.

Which one of the following statements is not correct ?
(1) Our environment is changing.

(2) Our lives have become neat and clean.
(3)  Better medical care is available.
(4) People are eating nutritious food.

'

. medicine has conquered’. . ..

The underlined word here means :
(1) denied (2) found cure for (3) pushed out (4) defeated

Population is rising mostly owing to better :
(1) food (2) hygiene (3) development (4) Dboth (1) and (2)

IOk O]
RAS-24 /ACT g% 15 F2



54.

55.

56.

57.

58.

59.

60.

Follow Telegram @examsdrx for more
content

..... growing at an alarming rate’ means :
(1) growing very rapidly (2) growing very slowly

(8) growing at a normal rate (4) sounding many alarm bells

In the following sentence, one part has an error. Identify the part with the error.

The committeeis divided on one minor point,

1) (2) (3) (4)

A letter from an accountant to his manager will have the subscription/closing of :
(1) Yours faithfully (2)  Yours obediently
(3)  Yours affectionately (4) Yours sincerely

Choose the option in which the following sentence has been changed from Active Voice to Passive

Voice.

Ram was knocking at the door.

(1) The door was being knocked at by Ram.
(2) The door was being knocked by Ram.
(3) The door was knocked at by Ram.

(4) The door had been knocked at by Ram.

Choose the option in which the following sentence has been changed from Direct Speech to Indirect

Speech.
!/I

Amit said, “How clever I am

(1)  Amit cried that he is very clever.

(2) Amit said that he was very clever.
(3) Amit asked how clever he was.
(4) Amit exclaimed that he was very clever.

Identify the Part of Speech of the underlined word in the following sentence.

It wasn’t the blue one but the red one.

(1) Preposition (2) Adverb (3) Noun (4) Conjunction

In the following sentence identify the clause of the underlined expression.

It is not clear who has done this.

(1) Noun (2) Adjective (3) Adverb (4) Principal

[OEL- O]
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PART - IV/ 10T - IV

61.

62.

63.

64.

Accountancy | o5l
An exertion, for achieving a set goal, is called :
(1) Motivation (2) Effort
(3) Incentive (4) Autonomy
T 4 fAuifa <1ed S 9 T A e R e § 2
(1) 9O (Motivation) (2) 9IM (Effort)
(3) W& (Incentive) (4) FEMEITA (Autonomy)
Operational Control is also known as :
(1) Task control (2) Planning control
(3)  Rectified control (4) Risk control
e i & freifond § fofg o7 98 9 off 1 S © 2
(1) = = (2) A fEE
(3) Henfua FEEw (4) SifEH fEe
Which of the following is not a preventive cost with reference to Labour Turnover ?
(1) Cost of training of new labour
(2) Cost of welfare services such as sports facilities, canteen services etc.
(38) Cost of pension or gratuity schemes etc.
(4) Cost of medical services
i aRed (FRaR) % e § frefafed § ¥ @ feme amma 78 § 2
(1) 7 gfHeni & GIR&I01 W SHerell AT
(2) HEATITHRI JaTd T WeAhe i AU, el a1 gl W A ArTd
(3) UIE A1 IUSH R S TR AT TRTd
(4) Tafeea Fanell W sHar ara
The work of Audit in relation to regularity of expenditure is of a :

(1) Quasi-Judicial Character (2) Executive Character
(3) Semi-Judicial Character (4) Judicial Character

=1 ot fafaar & def o srarien we fre yfa w1 €2
(1) SAo-=nfaw (FE-Sfefma) (2) sl (SAfhmm)

@) wH-Hfefma (4) =afaen

IOk O]
RAS-24 /ACT g% 17

F2



65.

66.

67.

68.

In case of deliberate attempt to evade the tax (Fraud Cases); the tax is paid after 30 Days of receipt
of Notice, what would be the quantum of penalty ?

(1) 25% of tax (2) 50% of tax (3) 100% of tax (4) 15% of tax

L ST T SR TI FTH 1 S H (HEGIES! & Il §) HL ot GerRrft Aifed 9 24 % 30 fa
& iR 6t STt 21 3w feafa § wnfeq (Smtn) 6t @ fea 2t 2

(1) T H 25% 2) B 50% (B) FH100%  (4) X H 15%

The specific accounting principles and methods of applying those principles adopted by an enterprise
in the preparation and presentation of financial statements is called :

(1)  Accounting Policies (2) Matching Concept
®)

fordiar faaRolt TR 3 iR SHeh! Tgfa § e g/ Sfiiieha fafire e fagia 3iR 371 JarT sheamd
T

(1) oRafeRA it (2) oo % =t STEERon

(3)  FoIH HRIEN Hehe (4) UfqRifdes TrTd Hehed

Going Concern Concept (4) Historical Cost Concept

‘A’ invited application for allotting 75,000 Equity shares of ¥ 10 each at par payable ¥ 5 on application
and balance an allotment. It received X 3,00,000 as application money. What is the number of
equity shares that the company will allot to the subscribers ?

(1) 60,000 Equity shares (2) 70,000 Equity shares

(3) Nil (4) 75,000 Equity shares

3T AT (A) 7 STOR & THF T 5 T UM SR I I5 IR e & T A FLH o STER |
% 10 9fd 3R Fed W 75,000 3feat =R A T | 36 =afed i T 3,00,000 1 STERA €9 ( STATRIH
T ) I g3 | Sfeel IRl bt e fohat § 8 ot Uetshigari i safed St (U Hedshigai
fora sfeardt TR SR ) 2

(1) 60,000 3feET IR (2) 70,000 3feRET IR
G) TA 4) 75,000 3foRET IR

Which of the following is called a Principal supply in relation to a composite supply under Goods
and Services Act 2017 (GST Act) ?

(1) Packing Materials (2) Transport

(3) Insurable (4) Supply of goods

et 3R Har FR sifufem, 2017 % o1efi Wiy smyfd % Hed § g Smyfd 1 7 el o € 2
(1) ek wmd (2) i (gee)

(3) s (4) S

[OEL- O]
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69.

70.

71.

72.

73.

74.

An intangible asset, as per AS - 26, should be measured initially at :

(1) Cost+ Training Expenses (2) Cost+Interest on Capital

(8) Cost+Service Charges (4) Cost

TGl HHH-26 o TIER R H o7 IREqra 1 9197 fefafed 9 9 g oar W foran s 2
(1) T+ e == (2) AT+ St W ==

(3) T+ Hell YUK (4) <rd

What is the prescribed rate of interest on delayed filing of Income tax and return ?

(1) 2% per month (2) 3% per month

(3) 4% per month (4) 1% per month

SAFH SR S = ferawolt <X ¥ St i W fafeq = < forat €2
(1) 2% gfaHE (2) 3% gfaHE

(3) 4% gidHrE 4) 1% gfaE

Economic lot sizes for inventory control are developed by :

(1) Frank B. Gilbreth (2) Ford Whitman Harris
(3) Henery Fayol (4) Elton Mayo

why T &g faaerht y== 9fimn @i feem fasfaa fean?

(1) e off. firersiy 2) e feeia i

() TR wAA (4) T B

Which of the following is “Activity Oriented Network Diagram” ?
(1) Ogive (2) PERT

(3) Histogram 4) CPM

= § 9§ H-91 R 39@ e 3@’ § 2

(1) i@ (Ogive) (2) WI AR

(3) A = (Histogram) (4) HWdiw

The Markowitz efficient hypothesis was initiated in :

(1) 1958 (2) 1959 (3) 1960 (4) 1957
TTehifaest FTe TRl el TR T8 7

(1) 1958 (2) 1959 (3) 1960 (4) 1957

What is the process that refers to the allotment of whole items of cost to cost centres or cost units ?
(1) Cost allocation (2) Cost apportionment

(8) Cost estimation (4) Process costing

frefafed § ¥ o1 W1 WA AN & 9 7S % AN hesl e AFTd IS i sefed fRT S | Heifed
€7

(1) ©d A (2) T GiaHrsH

(3) TNIA UeRReA (4) UHH A

IOk O]
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75. Which type of Budget requires management to justify all expenditures, rather than just changes
from the previous year ?

(1) Zero-based Budget

o Masterbudge | FOIIOW Telegram @examsdrx for more
(3) Perpetual Budget Content and

(4) Participative Budget

foh e JehT < ooTe | JaieM 9 I8 3T48T ki STIdT © oh o8 fusal ord 9 gfierd i st oo 9o =331 b1 siifec
fag = ?

(1) II-SA &SI (Zero-based Budget)

2

(2) HEX &SI (Master Budget)
(3) WMRAd dSiE (Perpetual Budget)
(4) 9fqYrl SIS (Participative Budget)

76. At which level of production, the total cost is equal to total revenue ?

(1) Break-even Point (2) Point of Sale
(3) Point of Profit (4) Breaking Point
e % T TR W, Tl AN 9 el SAFH THE B € 2

(1) s fog (2) o forg

(3) =g (4)  foem forg

77. Anallowance which is allowed by the seller to a buyer, who has to resell the articles, to compensate
cost of storage, breaking bulk and selling and delivering in small quantities. The allowances is

known as :
(1) Quantity discount (2) Cash discount
(3)  Quality discount (4) Trade discount

forshar gRT Shal o1 <t TS W 19 awgail Sl YR @rTd @i affayfd o o o Arer 1 s s gt
forsht S e B AT | A fasht HTT S R, I8 el 92 hed § ?

(1) WS (2) TS (THY) =g
(3) TUMcH SIg (4) AU &g

78. Which communication device enables a computer to transmit data over telephone lines ?

(1) URL (2) Telephone Instrument

(3) Modem (4) HIML

-1 YT I, THBMA ARl R ST ARG L T, HEH hl TH M § ?
(1) F3mud (2) el &

(3) wieA (49 wWATWT

[OEL- O]
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79.

80.

81.

82.

Purchase of Assets (other than stock - in - trade) on credit (e.g. land, building, plant and machinery,
furniture and fixture) are recorded in which of the following books ?

(1) Purchase Book (2) Sales Book
(3) Not recorded (4) Cash Book

@ (R R AR 0t TS (AT Wik Tl Do) (TN fH, wod, Fa3 AR AR, Hier
3R 37T Gl ST o1 T i § 9 forg idt | fomen ST &2

1) HA ) foa @
(3)  STRI YoTEH eI foha ST § 4) kg =

Hawthorne study is developed by :

(1) Fredrick Winslow Taylor (2) Ardway Tead

(3)  Elton Mayo (4) Ford Whitman Harris

B 372 1 fehe ferenera foman ?

(1) WheRe foaEe TR 2) oEd g

(3) TR HA 4) e feeia gfE

What is the tax treatment of the Sumptuary Allowance to High Court/Supreme Court Judges ?
(1) Not taxable (2) 30% taxable

(3) 50% taxable (4) Taxable

I e/ aled <A & AT o 9F GeohR = R foha s gl g § 2

(1) T&H A T 7 (2) T W 30% T FHIRG Bl §

(3) T W 50% T FHIRG B & 4) TWHRAAT

A body of individuals, whether incorporated or not, constituted for the purpose of assisting,
regulating or controlling the business of buying and selling or dealing in securities is called as :

(1) Stock Exchange (2) Bank
(3) Non-Banking Financial Company (4) Commodity Exchange
Rl o1 e Wil & g Fifia e e &1 steren =2, o1 e wfayfaei ot Tl IR foskl o wem

&, 34 fafatha w0 eteen 39 w0 &1 7k s g gfayfa & Geerr & fafeee i) feE -
fera foran i §, 1 e ©

(1) i s 2) W&
() TR-dF&wR fordta o 4) a5 fafm=

IOk O]
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83.

84.

85.

Follow Telegram @examsdrx for
more content and

Consider the following statements with reference to recognition of revenue as per Accounting
Standard-9.

(i)  Goods shipped subject to payment on delivery; recognised when the payment is received by
the seller or his agent.

(ii) Final dividend : Recognised an actual receipt of Bonus by the owner.

(iii) Exportincentives : Recognised when the ultimate collection of export incentives is reasonably
certain although there may be uncertainty about the timing of the receipt of such incentives.

Which of the above statement(s) is/are correct ? Choose the correct answer from the options
given below :

(1) (ii) and (iii) are correct (2) (i) and (iii) are correct
(3) (i), (ii) and (iii) are correct (4) (i) and (ii) are correct
TG AHH-9 % STIHR TSE &l TH=IT & dod H Fefafed wael  fa=ur fefaa

() IREE BN W PIH & AAAT IS T WA T qS T < S § T IRl 219 ST TSie
RERUR SRS

(i)  fam SIE ; SHeR! TRl S GRI ARa: A U g W S S g

(iii) FraTq JieaTe : S9! O 99 < S § S i gieared Uit s e gfaaged €9 9 fHfEa g
T Tafy 39 TR % Wiedied Wia o 999 & o) § SATfead 81 wehdt ¢ |

STdF | 9 i 91/9 FweH W §/8 ? T fou g faseui # 9 @@ sw g
(1) (i) 3 (iii) T € @) (i) 3R (iii) T §
G3) (), (i) 3R (iii) TE & 4) (i) R ) T E

“Specific and short-term statements for achieving the goals of an organisation” are called as :
(1) Operational Plan (2) Objectives
(3) Vision (4) Mission Statement

“fenglt HTeA o el 1 Wi =g fafime den et sem’’ wed ¢ :
(1) T=Ted A (Operational Plan)  (2) LD (Objectives)
(3) URehed T (Vision) (4) = HYT (Mission Statement)

The most reliable pattern, widely used for indicating trend reversal, is :

(1) Stochastics (2) Moving Averages

(3) Head and Shoulders (4) Rectangles

Yo YeamaiA bl AT A I TS €9 Y YIH S dTel Y favaa g wey ¢ :
(1) gE9E (2) AEEE S (Moving Averages)

(3) T UE viced (Head and Shoulders)  (4) 2T

[OEL- O]
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86.

87.

88.

89.

Which of the following relates to full disclosure principle ?
(1) Appending notes to the financial statements.
(2)  Accounting of a small calculator as an expense and not as an asset.

(3) Following the written down valuation method of depreciating a particular asset year after
year.

(4) Classification of assets as current assets and fixed assets.

frerferfiam # 9 1 ot v fagia & w7

(1) fo<ita foeroft § feuquft Herd &

(2) B HeporeX & T & T H @ik 7 w1 IR &k €9 H|

(@) =¥ o frdt gfufa fodw o goos™ i fafad gedish vsfd 1 Sger wE|
(4) ufcdufaEi =1 =re] et ok foa snfeaar & &9 siieton|

Which of the following points do not relate to Audit against Regularity ?
(1) Rules do not conflict with the orders of, or rules made by, any higher authority.

(2) In case rules have not been separately approved by a competent authority, the issuing
authority possesses the necessary rule-making power.

(3) No authority should exercise its powers of sanctioning expenditure to pass an order which
will be directly or indirectly to its own advantage.

(4) Rules are consistent with the essential requirement of audit.

frafafea § @ oF 3 fag fFrafrda & ame 8/% fou oramaden § deifua @ 82
(1) From S Wit grT feu e steer 4 s T fdt o faes @ En ¥

(2) afe FremmEe fFd germ TRl gR1 7o ¥ wighd Tl € o 39 <90 § ffa & o wifteit &
Y 3awaes 999 oM &) wfed et g

(3) forelt off TifeeRrdt 1 TH =99 1 GEApld 1 STQE TR i i Al I TART @l AT M6y
o8 g8y 372en Y ®Y W SHH W KT AT B hi HHEHT B |

(4) fram creraden ot sAferd sansti % STTEY B

How much amount is exempt out of Daily Allowance received by a Member of Parliament under
Section 10(17) of Income Tax Act 1961 ?

(1) 50% (2) 75% (3) Entire amount (4) 25%
ST AT, 1961 FT &R 10(17) & 1 HHS TR §R W <f ek vl W fohat g2 €2
(1) 50% (2) 75% @) T @A 4) 25%

‘Reward to Variability Ratio” is also known as :

(1) Sharpe Ratio  (2) Traynor Ratio (3) Jenson Ratio 4) Booking Ratio
“gftadsiierdr Wit $T9urd’ (Reward to Variability Ratio) &1 frefafad & forg =1 A |+t S
ST 2

(1) wmd ST (2) SHER A  (3) WA IIUE  (4) T UM

IOk O]
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90.

91.

92.

93.

94.

In a worksheet, an intersection of a column and a row, is known as :

(1) Column (2) Value (3) Cell (4) Formula
T FhRie H, T WY T8 T iR i Ffaesed, Heam ¢ :
(1) %9 (Column) (2) ¥I (Value) (3) I (Cell) (4) 97 (Formula)

A Computer can not boot if it does not have :

(1) Music system (2) Application software
(8) Operating system (4) Printing system
Tk hre ‘o2’ T L Tehal dfc 39H Frefafead § 9 = =& 812

(1)  Efid gomedt

N
2)  UEAIhIM HREH
(3) =T YU (Operating system)  (4)

(
(4) HEU1 Yot

By preparing the total Creditors Account, which of the following information is ascertained as the
balancing figures ?

(1) Cash Sales Follow Telegram @examsdrx

(2) Credit Purchases

(3) Cash Purchases for more Content

(4) Credit Sales

Hohel TR Wl AR R =i | & fhaent Sl qoricas iishg & &9 § gifeed ot ot €2
(1) % 99 (g forml)

(2) hfee T=ISM (IR & STTUR W B1I3)

(3) W TS (TS FA)

(4) shfee HeW (WG % YR WX foshl)

Which type of software combines multiple application into one package ?

(1) Network software (2) Integrated software
(3) Application software (4) System software
YIRESR T hIH-FT FehR g STTHANN ol Teh Uehel H THIET 3T © 2
(1) HZaeh WHRTR (2) TEiPd WHREAR

(3)  SATHAN FHoR (4) UM AIReRR

The Prime responsibility of the site management is :
(1) Establishment of Work Permit System (2) Training for Site Personnel

(3) Conduct the Field Quality Audit (4) Implement Safety Rules
T YeEH ol T SIS F1E ?

(1) o WA Yomett i T (2) TS HHA g eI
(3) IS TUET TR HIAT (4) gran Frae ang &
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95.

96.

97.

98.

“An enterprise has neither the intention nor the necessity of liquidation or curtailing materially its
scale of operations.”

With which of the Fundamental Accounting Assumptions the above statement relates ?
(1) Going concern (2) Consistency
(3) Accrual (4) Materiality

“ et 3T T A Q) IREETT 19T 379 ST % YHM HI FH F I T B & 7 B S THR Bl
ATITIHT et g1

STe oA fr=fafed § 9 fFg qaya oeieT qEauRom § Jefyd § 2

(1)  YId FRGR (MM FHTH) (2) HideHAT (hETEHT)

(3) FHA (THIA) (4)  rfcorehdl/ amEfereha

Accounting Information System, Manufacturing Information System and Human Resource
Information System put together are known as :

(1) Management Information System (2) Inventory Information System

(3) Financial Statements (4) Marketing Information System

TR =1 yoredt, fafior =T gomedt IR wa SHie =1 gomed dH) sl gatad €9 9 fifea §
T I 1 S S €

(1) 9oi® I Jomedl (TH 3 TF)  (2)  HIer= =T Jomedt
(3) foritar oo (4) forgom g=aT yomeh

Capital Index Bonds are linked with :

(I) BSE Sensex (2) Consumer Price Index
(3) NSE Nifty (4) Wholesale Price Index
TSt g dic food o5 € ag frefafed § G w=n g2

(1) o T8 dq (2) SUNET qod gaFih
(3) T (4) o T YhiH

Which of the following is not included in the process of controlling ?

(1) Integrates employees’ efforts (2) Analysing deviations

(3) Taking corrective measures (4) Setting performance standards
=1 9 9 ==, frgror ufshen o wimfoq €1 €2

(1) HHIR JIH THIH (2) fomed fawemo

(3) GUNIHS HRamE! (4) Toares g i
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99.

100.

101.

102.

An income that has been earned but not received during the Current Accounting Period is
called :

(1) Unaccrued Income (2) Capital Receipt
(3) Revenue Receipt (4) Accrued Income

1] AR erafy H sifsia o S T T g8 ©, e §

(1)  3TIfSia 3= (2)  deirra Wi
(3) TS g (4) SwIiSia =

An expenditure for which payment has been made or a liability incurred, but which is carried
forward on the assumption that it will be of benefit over a subsequent period is known as :

(1) Fixed Asset (2) Deferred Revenue Expenditure
(8) Outstanding Expense (4) Prepaid Expenditure

=1 ook fau Gererht &t T8 § SA9an <3l 3791 g8 ¢ foheg ST 39 qaumon (qaiqHM) & STER | AR
A T ® T WRedishiel § 399 1Y 81, 1 hEeldl § 2

(1) fra et (2) i e o
(B) I (4) Yo Hed A

What will be correct sequence of events ?

(i)  Forfeiture of shares

(ii) Default on calls

(iii) Re-issue of shares

(iv) Amount transferred to Capital Reserve

HIAT 1 HEl STIRH I BT 2

(i) SR 1 EHYRd e

(i) hicH-SAfdHH

(iii) ORI 1 A FA

(iv) tFﬁ"'I'd sfarfa ¥ sfafia @A

Choose the correct option :

) ferm T et B wE IR 9 -

W) G (), @), G @ @) 6,6 6) @) @ )66 @ ) ) ), G

Which of the following is NOT the part of committed fixed cost ?

(1) Depreciation (2) Advertisement

(3) Rent (4) Pay and Allowances
frfafed o 9 & @ gfderg feer ammd & €2

(1 = (2) forT

(3) femn (4) o9 TE 9
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103.

104.

105.

106.

What is the maximum amount of gift in kind, per annum, exempted under Income Tax Act ?

(1) ¥ 5,000 2) 7,500

(3) % 10,000 4) T 2,000

STeRT STTom & 31efA gfderd stfyshan o1 o &9 H fohd™ A 1 STER o T ST § B2 § 7
(1) %5000 T F SRR 2) 7,500 TF F IR

(3) 10,000 T F ST (4) 2,000 TF F TR

GST is a trust based taxation regime where in assessee is required to file his returns and determine
tax liability by following :

(1) Self Assessment Fol | OW Te | e g ra m

(2) After Audit by Chartered Accountant

(3) AfterAuditbyC&AGofIndia@exaderX ]Cor more

(4) Regular Assessment

el 37X Hell T =9 ST e gereen ¢ fad Myl @ e i St © f a8 3199 gfaeny =
TEA H{ 3R FH=ifRd & 71eaq 9 T <1 STaUd e

1) w@-frgRm

(2) ETE AEERR (H Q) GRI EadiE fohy ST o q9=q
(3) ¥RA o f7Ea iR HeerEr TWietsh §RI CemaeT % 9w
4) Trafa fraio

What is the input device for Manual Data Entry ?

(1) Joystick (2) Key-Board (3) Light Pen (4) Trackball
Y Y T4 (TEI) &t yfafe w3 & foaw yge e feargq feifra § I s @ e ?
(1) Srafes 2) H-dE (3) e WA (4) HATA

Which of the following items of PPE cannot be capitalised as per AS-10 ?

(1) Costs of site preparation

(2) Installation and Assembly costs

(3) Professional Fees

(4) Inauguration costs in connection with opening of a new business

AGIH HHH-10 o STTAR Guf, G 31k ST (N 0 3) & fofg we =1 Ioit H aftor =& o < wehat
€7

(1) SHREEIA IR 3 § T A

(2) TEIYA TR T AN

(3) HAEEITE HH

(4) T HIEE Y& FH § GHK STRWH ArTd
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107. The Institute of Chartered Accountants of India recognising the need to harmonise the diverse
accounting policies and practices, constituted an Accounting Standard Board (ASB) in :

(1)  April 1977 2)  July 1977

(3)  October 1977 (4) January 1977

R TSl TR Hee ' ¥ fafay eraied Hifadl iR ufhanedi sl gETd s IR 3T amee wenfud
FH I AR bl SAEEFR fhan T IR 39 A0 | @i AHF are (T TH oY) T34 Hd
R ?

(1) 8« 1977 (2) JaE 1977

(3) 3TRER 1977 (4) SHEaEt 1977

108. Which of the following is a factor affecting Working Capital requirement ?
(1) Choice of Technique

(2) Diversification

(3)  Availability of Raw Material

(4) Scale of Operations

FTIEIE Yoil STETIHAT bl FUIfed HE Il FRb ¥
(1) gfafy =1 ===

(2) fafaera

(3) oI HIA I U

(4) WSS ST UHHT (HTHRTS i SATIHRT)

109. Which of the following is a Prior Period Item ?
(I) Omission to pass an entry for receipts of Insurance claim in a previous year
(2) Estimate of useful life of Fixed Assets
(3) Loss due to earthquake/fire/strike

(4) Method of valuation of Investments

friferd 5 § F W 78 ‘g8 Fiferd 78§ 2

(1) oo ad § s gren Wit 6t wfafe (5 =) =& foran s
(2) oA snfEll o 3TN | @A &t STafY o1 3Tk

(3) YR/ SITSHI /ST & RT3 I

(4) T qeaiend fafy

110. A customer’s behaviour of leaving the queue due to impatience is known as :

(1) Reneging (2)  Jockying (3) Collusion (4) Balking
31T % RO U BieA 1 UTesh TR Heald &
(1) (2) Hfed (3) sfvEfy (4) et
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111.

112.

113.

114.

115.

116.

Salary received by a teacher/researcher from SAARC member state is not taxable upto the period :
(1) 3 Years (2) 4 Years (3) 5 Years (4) 2 Years

TEY (U1h) & USH TN ¥ 31eATIS / IMerhdl bl Hed dad F=ifeha B 9 fohael Tumafy ae saem 9
T B ?

(1) 3= (2) 4= (3) 5@ 4) 2=
A long term investment decision is called :

(1) Cash Flow Statement (2) Capital Budgeting Decision

(8) Working Capital Decision (4) Fund Flow Statement

Sratafues femt 1 o Feem § -

(1) s yare foreront (2) ISt s fmio fof

(3) e et fof 4) fafy-vare faawof

Which of the following is not a factor affecting the choice of Capital Structure ?
(1) Return of Investment (2) Availability of Raw Material

(3) Cost of Debt (4) Cash Flow Position

freiferd § | o Rer 9 YoiTa W= 1 foehea genfoad =& 2 € 2

(1) e ®) g gfaska (2) = HIA I ST

(3) U rTd (4) T yaTE i feafa

The relation between output response and input signal in closed loop system is :
(1) Linear (2) Non-linear

(3)  Exponential (4) Parabolic

Hgd qreT o H 70 TR AT STIG Hohd o o1 oh1 HeH BT & :

(1) KicED (Linear) (2) sifaes (Non-linear)

(3) ®Mi%h (Exponential) (4) WA (Parabolic)

Which of the following is not included in Hardware ?

(1) Monitor (2) M.S. Office 3) CPU (4) Keyboard
= 4 9 =, TrSaeR # wftAfer 7@ 8 2

(1) W (2) TH. WH HRE (3) HWWY (4) FHeirged
In Excel, the number of numeric entries can be known, through the function :

TH $HeR[ o T1eaH 9 T’ U, TeAcaes Giatedl i S S ST 9ehdl © ¢
(1) COUNT ) CHKNUM  (3) NUM 4) SUM

IOk O]
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117. ‘Span of Control’ refers to :
(1) The resources available to a manager

2) The geographical area of business operation

3) The chain of command in any organisation

4)  The number of employees reporting to a superior

e forgfa’ 9 o e ® 2

1) Tk YU <l Uy HH1E

2)

3) ol H7ed § 9 @t
)

(
(
(

I GTe hl Aot ?«}ﬁ

(
(
(
(

4) U IANHHR] hl RS A arel HH=1iEl i ge
118. Opening stock of Raw Materials 10,000
Closing stock of Raw Materials 15,000
Expenses of Purchases 5,000
Direct Wages 50,000
Prime Cost 1,00,000
From the above data what is the cost of raw material purchased from the options given below ?
A HIeT 1 SR =ik 10,000
FeAl TS T SAfqH Wik 15,000
ERIEIR2E) 5,000
Y&l TSIl 50,000
el rTd 1,00,000
ST 3k & SAUR W A L o - ST T <9 (AHFS) W T T el AT Y AT Tehe1 § 2
(1) 50,000 (2) 30,000 (3) 25,000 (4) < 1,10,000

119. The organisations that are formed for the purpose of promoting commerce, art, science, religion,
charity or other useful objects are called :

(1) Private Limited Company

(2) Not for Profit Organisation

(3)  Public Limited Company

(4) Partnership firm

S 13 1 7T iU, ohel, fomM, od, 9wl steren foreft 3171 Heworqul 35w k! sIgrell o o G
fohaT T & S SR kel STl § 2

(1) 9rEee fafaee o

(2) AR G (Afe B Yifthe G )
(3) Tdfsre fathes ot
(4)

4) ERER yfaeH
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120.

121.

122.

123.

124.

Income Tax due for net Income range of X 50 lakh to ¥ one crore for A.Y. 2024-25 shall be increased
by surcharge as follows :

1) 10% 2) 25% 3) 37% 4) Nil
T 50 A ¥ Teh S T9F o IR (range) H e o1 & fore feieor o 2024-25 § ST W <7 SAfyR
H fope wfererd <7 grm 2

1) 10% 2) 25% (3) 37% 4) I3

When more than two accounts are involved in a transaction and transaction is recorded by means
of a single journal entry instead of passing several journal entries, such entry is termed as :

(1) Double Entry (2) Compound Journal Entry

(3) Special Journal Entry (4) Single Entry

vl fopell HereeR (W ) H < W il g € iR HeTeRR 1 AfHeIEd wE SiHel gefteddl i s
A S wfafe gR R S € @ 39 YRR i ufafte weand ©

(1) 3 gfafte (2) waISE e gfafe

(@) TR SHa yfafe (4) Ta yfafe

Long term financial instruments having maturity of more than one year is subject matter of :
(1) Capital Market (2) Retail Market
(3) Wholesale Market (4) Money Market

refafies foxa faaa (e fSae! faare (9itgeear sefy) we ad 9 sifus 2§, o8 f=fafea |
Y forden fawg o 2

(1) ST SR (2) TeU INR
(3) ok ISR (4) TET AR

In a linear programming problem, the infeasibility may be removed by :

(I) Removing a constraint (2) Removing a Variable
(3) Adding a Variable (4) Adding a constraint
T s SHHMLYE TS O STaerid ol g2 =g fohan S gehdt ©
1) T R g (2) TH eI

(3) T S (4) o Sre

The Equally likely decision criteria is also known as :

(1) Laplace (2) Hurwicz (3) Bayes (4) Minimax
AT 0 A 1 59 A & off ST S €
(1) Tt (2) @fd= (3) =Fw (4) THfTe
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125.

126.

127.

128.

129.

When atleast one of the basic variable is zero, then the basic feasible solution to a linear programming
problem is said to be :

(1) Infeasible (2) Degenerate (3) Feasible (4) Non-degenerate
IS qoIYd =0 § ¥ FH-H-FH Tk =R Y 8, 1 Gk FHeu THE & JoAyd a8 THIYM hl =1
el 18 2

(1) 3rFaeH ) fawa (3) HRH (4) sAfaFa

An appeal to the Appellate Authority for Advance Ruling under the Central GST Act 2017 shall
be filed within :

(1) 30 Days (2) 45 Days (3) 60 Days (4) 15 Days
e 3R Tar = Stfufaam, 2017 & 10 1fim fafaoia & fau stdetta wiftemor & fova @99 & i
3T TR Y S Hehell © 2

(1) 30 feH (2) 45T (3) 60 fad (4) 15 fH

If the feasible region of a linear programming problem is empty, the solution will be :
(1) Infeasible (2) Unbounded (3) Feasible (4) Alternative
Ife T Xaeh HUMYH TS 1 eer & fad &1, @ ST <=1 8 ?

(1) =™ (2) sy () HeRE (4) dRfcaeh

Overheads according to nature can be classified as :
(1) Normal overheads and abnormal overheads
(2) Factory and office overheads

(38)  Selling and Distribution overheads

(4) Indirect material, Indirect Labour and Indirect expenses

Jehid & TR SUfer & fr=ifha &9 H aifiehd fohan < wehan & :
(1) 9= 3R iR STaTH=T SURer™

(2) HREM R FHEEE IR

() fosrt SR famo ufem

(4) oY@ (Te) FERR, STUEE gfHes (99) 3R ATEd =

Continuous stock taking is related with :

(1) Perpetual Inventory (2) Annual Stock taking

(3) ABC Analysis (4) Annual Inventory Analysis
e Y S e e 32

(1) wRed @i (2) @it Y o

(3) Wit G fewerwor (4) iR Tefaan fereeram
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130.

131.

132.

133.

Which of the following statement is not correct ?
(1) Auditor must educate as well as investigate.

(2)  Auditor should not only point out mistakes but also indicate how they may be rectified and
avoided in future.

(3) Improvements in system is the duty of Auditor.
(4) Audit is one of the instruments of the financial control

frefafed § 9 i o1 oA T TEé 7 2

(1) <rEmders i AfFerd: R o % are | ST=w S =l |

(2) W I Had TATqEl Tl IATA HIAT AMieT AU e o S =fen o 3= HA GHR S Fehal
T 3R vfgs # sHent URER foran ST Tkt T

(3) WUIed () H GUR M oI@ToRIeTsh T Fhded T |

(4) orETRien foita friE #t e gfa 7

The concept of “‘Job Enrichment’ is contributed by :

(1) Fredrick Winslow Taylor (2) Peter F. Drucker
(3) Ardway Tead (4) Fredrick Hertzberg
"1 HeHA' ol Hehew T o1 iquie fehtieh GRI i TS ?

(1) Wefe fagen T 2) TR TH T

(@) rEd drs 4) el s

An assessment under Section 143 of Income Tax Act shall be completed within what period from
the end of relevant assessment year ?

(1) 9 months (2) 12 months (3) 18 months (4) 6 months

SARIRT AT, T G 143 % S KL e d fFHefor o & ware 29 4 faat ey & fiaw
U feran STEm ?

(1) 94HE (2) 124E@ (3) 18HE@ (4) 6HRE

Which of the following is not treated as Inventory as per Accounting Standard-2 ?
(1) Spares specific to a particular fixed asset.
(2) Asset held in the process of production for such sale e.g. WIP (Work-in-Progress).

(3) Assets held in the form of materials or supplies to be consumed in the process of production
on rendering services.

(4) Assets held for sale in ordinary business e.g. finished goods.

‘G AFSH-2' o TR Fr=Aifhd § & o ATe=t & A1 a1 © 2

(1) foreht fomim frara e & foaq fafire wags |

(2) 39 TR HI ot o foaw 3carea i gfshan # &ifia smf |

(3) I T H eiid STGqar steran SYfiai i W (1 STHAT) Wl TS HA W SR Hi Hiha
H i ST |

(4) SRy e § faskt % fau e afeufa aen-Tam mme |
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134.

135.

13e6.

137.

Statistical quality control techniques were developed by :

(1) F.W. Taylor (2) Clark Gable
(3) Walter Shewhart (4) Elton Mayo
iferst e FE=0 qehte fasfaa =t T -

(1) TH g, o (2) ATk eI
(3) TR AR (4) TeA AR

Consider the following statements with reference to objections to installation of cost accounting

system in an organisation.

(i) The system is quite expensive as it requires considerable amount of clerical work.

(i) Costing system itself does not control costs or improve efficiency.

(iii) Adequate costing records supply to the Management such data as may be necessary for
preparation of Profit and Loss account and Balance Sheet, at such intervals as may be desired
by the Management.

Which of the above statement(s) is/are correct with reference to objections to the installation of

cost accounting system ? Choose from the codes given below.

(1) Only (ii) and (iii) are correct (2) Only (i) and (iii) are correct

(3) (i), (ii) and (iii) are correct (4) Only (i) and (ii) are correct

fehdll HTTaA § T wiish WOTTed! HeTae #hi Syt o Gew § fferfad sherl W fo=m it :

(i) € YUTeh Sgd WeEiel § i sl wgd e fafyemr wrf srifea @ 2

(i) ST FrERoT Jonel § WA AR wH T oIl § STere SaT (FEiheern) H guR T et §

(i) THYT A T TWE & T H! TG QiR SR Hi AR S e IR 21’ @ oiR ger o=
TR F1 & AU geieq g0 hfaug sqaiaue o e7ufad =)

ST H | D FI/Y HYF AN AGih JUTel Hemo" &t I F dedf F 9@t €2 T fsumuae § 9

REUEEI (R

(1) e (ii) 3R (i) T € (2) FE (i) 3T (iii) T €

3) (i), (i) SR (iii) T € (4) e (i) 3 (ii) W €

In contracts where besides ‘cost’ an agreed sum or percentage to cover overheads and profit is
paid to the contractor; what is the method called ?
(1) Cost plus costing (2) Operation costing

(3) Batch costing (4) Process costing
U Hioersti | Sl AnTa’ 3 ST SURead i WU i o fou Siaqa Tend sAafe a1 F2 yiawd siiX
Y (YATRN) St WS Gfaemerdt (SHSR) 1 1 S B, T8 TS I T Hl S 2

(1) <G o AHYHR ATd e (2) T=EEH AN

() o= anma fERe (4) WohH WA fAERo

A portion of the capital available only for the creditors on winding up of the company is called :
(1) Reserve Capital (2) Called up Capital

(3)  Uncalled up Capital (4) Authorised Capital

ST o 9E fory ST Y <90 H Had oFeRl & fore & OSit 1 T 39 SUeTs BT €, S el S §
(1)  eIRfer deft (2) fasa GSft (Called up Capital)

(3) emfaed STt (Uncalled up Capital) (4) Afesa ISt
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138.

139.

140.

141.

A Budget is an example of which type of plans ?

(1) Standing Plan (2) Single Use Plan
(8) Strategic Plan (4) Informal Plan
SITe, A % e TehR o ST © 2

(1) TR I (2) THA SUHR Al
(3)  TUrtfdeh A (4) SO Al

Consider the following statements with reference of Debt financing :

(i) A business that doesn’t grow, dies.

(i) Higher the volatility in your business the more debt you should have.
(iii) Smaller the volatility, less debt you can afford.

Which of the above statement(s) is/are correct; choose the correct option :
(1) Only (ii) is correct (2)  Only (iii) is correct

(3) (i), (ii) and (iii) are correct (4) Only (i) is correct

o1 faqumor & ded ° fr=fafad waHl W fa=m sifey

() o ceEmE o yofa 72 2t €, T & s €

(i) T9h FaEE H St ifaes qRecdar Erft STash I 3a1 & STfeeh 07 BT <1eu |
(iif) ReTcdar St 9 Bt 319 ST & S SR o | et o ek © |

ST | ¥ & 91/4 w9 ©/T; W fowew g

(1) e (i) 98 & (2) e (iii) T ¥

(3) (), (i) 3R (iii) =& § (4) Fad (i) TE

Under which type of accounting, the accounting information developed primarily for internal
decision makers ?

(I) Management Accounting

2)  Financial Accounting Te | g ra m @exa m Sd rX
3) Risk Accounting

4)  Audit Accounting

fohd YR &% @i B, ddishd ga1 T &9 9 3Tiafies fuiaeni =g foemfaa i s & 2
R ECRCIER] (Management Accounting)
) foria /@i (Financial Accounting)

3) SifEH @@ (Risk Accounting)
) 3HR&U W@l (Audit Accounting)

A primary record of the quantity of stocks, kept on an in/out/balance, held in designated storage
area is called :
(1) Bin Card (2) Stores Ledger

(3) Inventory System (4) Bill of Material

TeTHfed / G WeRl § HId I & &9 H o1 I <k Ak Wieh i qn (TR) 1 et e
BT & :

1) fa=e (2) YR @rdreR

(3)  HICTHE! FomTed! /65 (4) wr o e
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142. According to ‘Capital Asset Pricing Model’, overpriced securities have :

(1) Positive Betas (2) Negative Alphas

(3) Negative Betas (4) Positive Alphas

oft Tt e Hee ¥ STER St g

(1) e ‘e’ gran € (2) oA ‘ 3Tl Bl §
(3) HUIHS ‘<iter’ BT § (4) oA ‘ T’ BT §

143. Who introduced the ‘Arbitrage Pricing Theory” ?

(1) Charles Dow (2) Benchamin Graham
(3) Stephen Ross (4) William Sharp
Tl T fagia @ St e fe?

(1) =" (2) oA TmEH

(¢) e ™ (4) fafem wd

144. Employer’s contribution towards approved superannuation fund will be chargeable to tax to the
extent it exceeds :

(1) R 750,000 per annum
(2) < 10,00,000 per annum
(3) < 15,00,000 per annum
(4) < 5,00,000 per annum

sTHItea sTfuaftiar ffy # fiie 1 siveM fefafed § | fhat g § 21feeh 3H W SUe™ 9rd § 2

(1) % 7,50,000 Sfders (|1e |a @ T gfae)
(2) 10 @@ gfqed

() 15 @@ Yfaed

(4) 5@ gfaes

145. Cost of Production of Goods Sold + Selling expenses + Profit is called :

(1) Sales (2) Prime cost

(3) Total cost (4) Purchases

S TE I%] (S T O ) i SIEH AR + Tk =@+ o o6 Frifend B | 9 T < St § 2
1) fosnt (2) 9YM ANTd (Y= ART)

(3) FA wr (4) %A
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RAS-24 /ACT é@% 36 F2



146.

147.

148.

149.

150.

Follow Telegram @examsdrx for
more content

A ‘Price Weighted Index’ is an arithmetic mean of :

(1) Current Prices (2) Future Prices

(3) Annual Prices (4) Historical Prices
T o WIRd Geehis S siehmforda e S ¥, T R

(1) = (2) e % e

(3) =t e (4) e e
Which of the following security is considered as highly liquid ?
(1) Treasury Bills (2) Mutual Fund Units
(3) Shares (4) Debentures

= & 9 form wfayfa <t orcid ‘aRe’ BT ST © 2

1) T foa 2) T He e
(3) 39 (M) (Shares) (4) RO

In a computer, the main function of the CPU is :

(1) Executing Instructions (2) Networking

(3) Storing data (4) Input and Output
Hr H, O 0 g H e wE R

(1)  STcRI 1 qre (2) FeafhT

(3) Tl HeRY (4) &Td Ts fid

Specialisation is a characteristic of which type of organisational structure ?

(1) Matrix (2) Divisional (3)  Functional (4) Line
forrorsran, fore Woh o TiTe @fdl ol oo @ 2
(1) Hfea (2) 99T OERERIS:ED (4) Y@

Which of the following income received by a Government servant in a previous year is exempt
under Income Tax Act ?

(1) Leave encashment while in service (2) Gratuity
(3) Annuity from employer (4) Advance Salary
froer ad fordt SRRt FHERI gRT U fohd 3T ol eTreRt Sifafem 9 g2 & . § 2
(1) YIRd @A & SNH el THSHI ) 3ST’H
(3) TR | g =ftes gfa 4) A
-00o0-

IOk O]
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRaa ferden B e A U

1. The manner in which the different questions are to be answered has been | 1. forr g ¥ fafdm wedl & 3R v o & wer vt wdten
explained in the Test Booklet which you should read carefully before actually girt & o o &, forY 3mu gl &l 3eR Jof A e e A Ug
answering the questions. ol

2. Outofthe four alternatives for each question, only one circle for the correct | 2. T Y & fou fow a0 TR fadedl & A Fé 3 & fou OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IR T & Y86-2 T hact U Jd Bl & 3T A8 Sitel/dret aed Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable U A 93| Uh dR 37 3iTcbd Biel &b dC 30 deell oal off Abdl
tobe changed. In case more than one circle is darkened, the question 31 TS A 3Mfd A B BIeN Bed W Y Bl A od fepa
will not be assessed. ST

3. Thecandidates should ensure that the Answer Sheet is notfolded. Donot | 3. udYerreff Qﬁrﬁird B op 39 FAR U Bl A9l oMU UG 37 W Bls
make any stray marks on the Answer Sheet. Do not write your Roll No. 31 forere o epmu | utemelf amer BB JR-T & fgeifa
anywhere else except in the specified space in the Answer Sheet. e % 3Tl 3 7 R

4. Handle the Test Booklet and Answer Sheet with care, as under no | 4. T3t gﬁaaﬂ T4 IR T Bl mmqjas TR B3, Fifes fepat oft
circumstances (except for discrepancy in Test Booklet Code or Number uRfvefy & (Baa wdenm g"mzm T4 30 T & B A A|T A
and Answer Sheet Code or Number), another set will be provided. fireera a5t Rafy 31 Bigs?) @_a e E{ﬁ?"ﬂ Juee o e

5. The candidates will write the correct Test Booklet Code and Number as Eitepill
given in the Test Booklet/Answer Sheet in the Attendance Sheet. 5. gder gﬁﬂ’m‘[m T3 # fw o wden gRde Bl 7 Fw B

6. A machine will read the coded information in the OMR Answer Sheet. Tdtemelt FE adis A JuRerfa-um A foraf |
Hence, noinformation should be leftincomplete and it should not be different | 6. OMR 3% 51 & Pifed oTelBR! @ Uh AN Ueolt| AT aﬁé
from the information given in the Admit Card. oft GCl 3{5{3 J B8 3R Ig gau-u & & 3 3@l 3 firee a8

7. Candidates are not allowed to carry any textual material, printed or written elt e |
bits of papers, pager, mobile phone, electronic device or any other material | 7. gdlereff grr wden ea/mer & Yd9-u5 & Rag B yar ot
except the Admit Card inside the examination hall/room. UTeRI-ATe, BgF;’H 1 GHATCIET BT Bl U, UolR, Aiarsel

8. Mobile phones, wireless communication devices (even in switched off I, SeIagI ol 3Uehl T fepalt 31 YR &f el &F of Sl a1
mode) and the other banned items should not be brought in the examination JTAT B B 3@3‘41% CR]
halls/rooms. Failing to comply with this instruction, it will be considered as | g, #arser Bier, ddR FAR gﬁﬂﬁ (R 31T srazen & o) 3T 3w
using unfair means in the examination and action will be taken against them et 32@"5 TSta Ectiat & E oS e AR | = 2 T
including cancellation of examination. T 7 29 T ) e 3 d@\dd eI T g e A 3

9. Each candidate must show on demand his/her Admit Card to the Invigilator. 3 faoeg Frfard ot ool e 3wt usien I deen anfire

10. No candidate, without special permission of the Centre Superintendent or 2l A
Invigilator, should leave his/her seat. 9. TP o W UE wienell, forfters @ sren yag-uw fHm |

1. The candidates should not leave the Examination HallRoom without handing | 10- s 3feftares am %ﬁﬁ&ﬁﬁ @t fadw sgarta o foer atg wamdt
over their Answer Sheet to the Invigilator on duty and sign the Attendance 3T 2Tel & BYS |
Sheettwice. Cases where candidate has not signed the Attendance Sheet | 1. ®refvd ferdteras @ aruen 3z U= iU foem vd uRefd-u w gary
second time will be deemed not to have handed over the Answer Sheet and goaner fou faem udtemel wden aci/mer & ol afe feseht
dealt with as an unfair means case. The candidates are also required to Temeff o @-ﬁ AR JuRfy-Usr W aader a8t U, af 9 e
put their left hand THUMB impression in the space provided in the ST 5 A 3T w98 S i g 3@\;“3 e BT
Attendance Sheet. o .

HTHCT HTT ST | TYeTelt Syuet am arer 3 39S 1 ferermat Jufeerfe-

12. Use of Electronic/Manual Calculator is prohibited. U5 & U 910 TIE U7 3199 Ry |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiieid/gaaiicid Uibeid T U atoid &

Body with regard to their conduct in the Examination Hall/Room. All cases | 13, gdterr &fd/mel & 3MaRY & fau wtemel gdteror dwem & woft
of unfair means will be dealt with as per Rules and Regulations of the forre va fferrat gy g ¥ s@ﬁd erelt % eft e @
Examining Body. e udterr e & foral vd faferall & 3 g

14. No part of the Test Booklet and Answer Sheet shall be detached underany | 14, fpaft oft uRRefa & wdien Eﬁa—ﬂ 3R TR S BT Bl AT 37T
circumstances. &

15. On completion of the test, the candidate must hand over the Answer | 15, TieT et glet U2, Wlemelt gct/amer Bigdl A qd SR U ferdleras
Sheet to the Invigilator in the Hall / Room. The candidates are I 31@9g A S| gAermelf syua Frer 597 gdem gﬁ;ﬂ,—,a,-} & o FPBa
allowed to take away this Test Booklet with them. ¥
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QN0  KEY QNO KEY QNO  KEY QNO  KEY QNO  KEY
001 1 031 3 061 2 091 3 129 2
002 1 032 4 062 1 092 2 e 9q
003 4 033 1 063 1 093 2 123 1
004 1 034 3 064 1 094 4 124 1
005 4 035 2 065 3 095 1 125 2
006 2 036 3 066 1 096 1 126 1
007 3 037 4 067 1 097 2 127 1
008 2 038 4 068 4 098 1 128 4
009 2 039 1 069 4 093 4 129 1
010 2 040 1 070 4 100 2 130 3
011 1 041 2 071 2 101 2 131 4
012 1 042 4 072 4 102 2 132 2
013 3 043 2 073 3 103 1 133 1
014 3 044 4 074 1 104 1 134 3
015 2 045 1 075 1 105 2 135 4
016 4 046 1 076 1 106 4 136 1
017 4 047 2 077 4 107 1 137 1
018 2 048 3 078 3 108 3 138 2
019 2 049 4 p79 3 109 1 139 4
020 3 050 3 080 3 10 1 140 1
021 3 051 1 081 1 111 4 141 1
022 1 052 2 082 1 12 2 142 2
023 1 053 4 083 2 13 2 143 3
024 1 054 1 084 2 14 1 144 1
025 4 055 1 085 3 15 2 145 1
026 2 056 1 086 1 116 1 146 1
027 4 057 1 087 3 17 4 147 1
028 2 058 4 088 3 18 1 148 1
029 1 059 4 089 1 19 2 149 3

030 2 060 1 050 3 120 1 150 2
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